Euler’s Method - Worksheet

. Estimate y(1.3) if y(1) =9 and /(1) =
—0.5.

. Use tangent line approximation to esti-
mate f(2.8), where f(x) = 2® —22% —4.

. Use tangent line approximation to esti-
mate ¢(3.2), where g(y) = e5™(2¥),

CIf f/(1) = 5 and f(0.8) = 5, estimate
f(1).

. Tangent approximation of ¢(a) is b us-
ing the information g(a) = b. Find

¢'(a) in terms of a, b, a and b.

. Use the tangent line at z = 2 to es-
timate the value of f(z) = 2772 at

10.

r=1.5.

Estimate the slope of the tangent to
g(x) at x = 5.7 | if ¢"(5) = 3.1 and
g'(5) = —109.

) ) p
If f(z) is the solution of % =

vad + 3z, f(1) = 6, estimate f(1.5)

using Euler’s method.

If g(z) is the solution of % =
77, 9(0) = =3, estimate g(—0.3)

using Euler’s method.

Estimate y(2.5), where Z—z = xy +

2, y(2) = 6, using Euler’s method with
Az = 0.25.
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